

Mark Scheme (Results)

Summer 2010

GCE O Level

GCE AO Level Pure Mathematics (7362/02)

Edexcel is one of the leading examining and awarding bodies in the UK and throughout the world. We provide a wide range of qualifications including academic, vocational, occupational and specific programmes for employers.

Through a network of UK and overseas offices, Edexcel's centres receive the support they need to help them deliver their education and training programmes to learners.

For further information please call our Customer Services on + 44 1204 770 696, or visit our website at www.edexcel.com.

If you have any subject specific questions about the content of this Mark Scheme that require the help of a subject specialist, you may find our **Ask The Expert** email service helpful.

Ask The Expert can be accessed online at the following link:

<http://www.edexcel.com/Aboutus/contact-us/>

Summer 2010

All the material in this publication is copyright

© Edexcel Ltd 2010

Question Number	Scheme	Marks
2.	(a) $(x-2)(x+1)$ (b) $f(2) = 8 + 8 - 10 - 6 = 0$ $f(-1) = -1 + 2 + 5 - 6 = 0$ $\therefore (x^2 - x - 2)$ is a factor	B1 M1 M1 A1 [4]
3.	$\sum_{r=5}^n (2r-1) = \frac{(n-4)}{2} (9+2n-1)$ $= \frac{(n-4)}{2} (2n+8) = (n-4)(n+4)$ $= n^2 - 16 \quad *$	B1 (n-4) M1 A1ft A1 [4]
4.	(a) $9 = \frac{a+14}{2}$ $40 = \frac{8+b}{2}$ $a = 4$ $b = 72$ (b) $\frac{1}{41}(9\mathbf{i} + 40\mathbf{j})$	M1 A1 M1 A1 [4]
5.	$A = \pi r^2 \quad \frac{dA}{dr} = 2\pi r$ $A = 40 \quad r = \sqrt{\frac{40}{\pi}}$ $\frac{dr}{dt} = \frac{dA}{dt} \times \frac{dr}{dA} = 0.3 \times \frac{1}{2\pi\sqrt{\frac{40}{\pi}}}$ $= 0.01338\dots = 0.0134 \quad (\text{allow } 1.34\%)$	B1 B1 M1 A1 A1 [5]

Question Number	Scheme	Marks
6.	<p>(a) $y = \tan x = \frac{\sin x}{\cos x}$ $\frac{dy}{dx} = \frac{\cos^2 x + \sin^2 x}{\cos^2 x}$ $= \frac{1}{\cos^2 x}$ *</p> <p>(b) $\frac{dy}{dx} = 3e^{3x} \tan x + e^{3x} \times \frac{1}{\cos^2 x}$</p> <p>(c) $\tan \theta = 2$ $\theta = 1.11$</p>	<p>M1 A1</p> <p>A1</p> <p>M1 A1 A1</p> <p>M1 A1</p> <p>[8]</p>
7.	<p>(a) $V = \frac{1}{2} x^2 h$</p> <p>(b) $S = \frac{1}{2} x^2 + 3xh$ $\frac{1}{2} x^2 = 400 \quad h = \frac{800}{x^2}$ $S = \frac{1}{2} x^2 + 3x \times \frac{800}{x^2} = \frac{1}{2} x^2 + \frac{2400}{x}$ *</p> <p>(c) $\frac{dS}{dx} = x - \frac{2400}{x^2}$ $\frac{dS}{dx} = 0 \quad x^3 = 2400 \quad x = \sqrt[3]{2400} \quad (\text{awrt } 13.4)$ $S_{\min} = \frac{1}{2} (\sqrt[3]{2400})^2 + \frac{2400}{\sqrt[3]{2400}} = 268.8 = 269$</p> <p>(d) $\frac{d^2S}{dx^2} = 1 + \frac{4800}{(\sqrt[3]{2400})^3}$ $x > 0 \Rightarrow \frac{d^2S}{dx^2} > 0 \quad \therefore \text{min}$</p>	<p>B1</p> <p>B1</p> <p>M1 A1</p> <p>M1</p> <p>M1 A1</p> <p>M1 A1</p> <p>M1</p> <p>A1</p> <p>[11]</p>

Question Number	Scheme	Marks
8.	(a) $\alpha^3 + \alpha^2\beta + \alpha\beta^2 - \beta\alpha^2 - \beta^2\alpha - \beta^3 = \alpha^3 - \beta^3$ *	M1
	$\alpha^3 - \alpha^2\beta + \alpha\beta^2 + \beta\alpha^2 - \beta^2\alpha + \beta^3 = \alpha^3 + \beta^3$ *	A1
	(b) $\alpha + \beta = 2$ $\alpha\beta = -5$ $\alpha^2 + \beta^2 = (\alpha + \beta)^2 - 2\alpha\beta = 4 + 10 = 14$	B1 M1 A1
	(c) $(\alpha - \beta)^2 = \alpha^2 + \beta^2 - 2\alpha\beta = 14 + 10 = 24$	M1 A1
	(d) $\alpha^3 + \beta^3 = (\alpha + \beta)(\alpha^2 + \beta^2 - \alpha\beta) = 2(14 + 5) = 38$	M1 A1
	(e) $\alpha^3 - \beta^3 = (\alpha - \beta)(\alpha^2 + \beta^2 + \alpha\beta) = \sqrt{24}(14 - 5) = 18\sqrt{6}$	M1 A1
(f) $(\alpha - \beta)^2 + (\alpha + \beta)^2 = 24 + 4 = 28$ $(\alpha - \beta)^2(\alpha + \beta)^2 = 24 \times 4 = 96$ Eqn $x^2 - 28x + 96 = 0$	M1 A1 B1	B1ft
	[15]	

Question Number	Scheme	Marks
9.	<p>(a) $\cos(A+B) + \cos(A-B)$ $= \cos A \cos B - \sin A \sin B + \cos A \cos B + \sin A \sin B$ $= 2 \cos A \cos B$ *</p> <p>(b) $\cos 2A = \cos^2 A - \sin^2 A = \cos^2 A - (1 - \cos^2 A)$ $= 2 \cos^2 A - 1$ *</p> <p>(c) $P = A + B, Q = A - B, \frac{P+Q}{2} = A, \frac{P-Q}{2} = B$ from (a): $\cos P + \cos Q = 2 \cos \frac{P+Q}{2} \cos \frac{P-Q}{2}$ *</p> <p>(d) $\cos 8x + 2 \cos 6x + \cos 4x$ $= 2 \cos \left(\frac{8x+4x}{2} \right) \cos \left(\frac{8x-4x}{2} \right) + 2 \cos 6x$ $= 2 \cos 6x (\cos 2x + 1)$ $= 2 \cos 6x \times 2 \cos^2 x$ $= 4 \cos 6x \cos^2 x$ *</p> <p>(e) $\int_0^{\frac{\pi}{4}} \cos 6x \cos^2 x dx$ $= \frac{1}{4} \int_0^{\frac{\pi}{4}} (\cos 8x + 2 \cos 6x + \cos 4x) dx$ $= \frac{1}{4} \left[\left(\frac{1}{8} \sin 8x + \frac{1}{3} \sin 6x + \frac{1}{4} \sin 4x \right) \right]_0^{\frac{\pi}{4}}$ $= \frac{1}{4} \left[\frac{1}{8} \sin 2\pi + \frac{1}{3} \sin \frac{3\pi}{2} + \frac{1}{4} \sin \pi - 0 \right], = \frac{1}{12}$</p>	<p>B1</p> <p>M1 A1</p> <p>M1 A1</p> <p>M1 M1 M1 A1</p> <p>M1</p> <p>M1 A1ft</p> <p>M1 A1, A1</p> <p>[15]</p>

Question Number	Scheme	Marks
10.	(a) $x = 1$	B1
	(b) $\frac{dy}{dx} = 4 - \frac{1}{(x-1)^2}$	M1 A1
	$x = \frac{3}{2}$ $\frac{dy}{dx} = 4 - \frac{1}{(\frac{3}{2}-1)^2} = 4 - \frac{1}{(-\frac{1}{2})^2} = 4 - 4 = 0$	M1 A1
	$x = \frac{1}{2}$ $\frac{dy}{dx} = 4 - \frac{1}{(\frac{1}{2}-1)^2} = 4 - \frac{1}{(-\frac{1}{2})^2} = 4 - 4 = 0$	A1
	$\frac{d^2y}{dx^2} = \frac{2}{(x-1)^3}$	M1
	$x = \frac{3}{2}$ $\frac{d^2y}{dx^2} = \frac{2}{(\frac{1}{2})^3} > 0 \quad \therefore \text{min}$	A1
	$x = \frac{1}{2}$ $\frac{d^2y}{dx^2} = \frac{2}{(-\frac{1}{2})^3} < 0 \quad \therefore \text{max}$	A1
	(c)(i) $x = \frac{3}{2}$ $y = 4 \times \frac{3}{2} + \frac{1}{(\frac{3}{2}-1)} = 6 + 2 = 8$	B1
(ii) $x = \frac{1}{2}$ $y = 4 \times \frac{1}{2} + \frac{1}{(\frac{1}{2}-1)} = 2 - 2 = 0$	B1	

Question Number	Scheme	Marks
10	<p>(d)</p> <p>The graph shows a function with a vertical asymptote at $x = 1$. The function has two branches. The lower-left branch passes through the points $(0, -1)$ and $(\frac{1}{2}, 0)$. The upper-right branch has a minimum at $(\frac{3}{2}, 8)$.</p>	<p>B1 (2 branches) B1 (asy) Vertical only B1 (turning points)</p> <p>B1 (0, -1)</p> <p>[15]</p>

Question Number	Scheme	Marks
11.	<p>(a) $(2x-1)^2 = (x-4)(16x+1)$ $4x^2 - 4x + 1 = 16x^2 - 63x - 4$ $12x^2 - 59x - 5 = 0$ $(12x+1)(x-5) = 0$ $x = -\frac{1}{12} \quad x = 5$</p> <p>(b) $x = 5$ $a = 1$</p> <p>(c) $r^2 = \frac{10-1}{5-4} = 9 \quad r = 3$ $r = -3$ not poss.</p> <p>(d) $x = -\frac{1}{12}$ $a = -\frac{1}{12} - 4 = -\frac{49}{12}$</p> <p>(e) $r^2 = \frac{-\frac{1}{6} - 1}{-\frac{49}{12}} = \frac{14}{49} = \frac{2}{7}$ $r = \sqrt{\frac{2}{7}} \quad (r > 0)$ $S = \frac{a}{1-r} = \frac{-\frac{49}{12}}{1-\sqrt{\frac{2}{7}}} = -8.772\dots = -8.77$</p>	<p>M1 A1 M1 A1 A1</p> <p>M1 A1</p> <p>M1 A1 B1</p> <p>M1 A1 M1 A1</p> <p>[16]</p>

Further copies of this publication are available from
International Regional Offices at www.edexcel.com/international

For more information on Edexcel qualifications, please visit www.edexcel.com
Alternatively, you can contact Customer Services at www.edexcel.com/ask or on + 44 1204 770 696

Edexcel Limited. Registered in England and Wales no.4496750
Registered Office: One90 High Holborn, London, WC1V 7BH